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WEBF 500m R

I 5z K £ B it B H5E B =
1 FBE HF (&8 X £ E) 37.75
2 R KA (M1 I & %) 37.76
3 HE 5 (1 I & %) 37.98
4 i —F (&8 X £ E) 38.16
5 R =2 (R ®# KX =) 41.11
PDEBF  1000m FiE
[14H]
I 5z K £ B it B H5E % =
1 ING {E—EB (E % & %) 1.22.66 5
2 F5 HF (&8 X £ E) 1.23.31 52
3 i —F (&8 X £ E) 1.23.40 5t
4 HE 5 (fh I £ %) 1.26.38 52
5 INR HE (& # ) B4 LTEL 1.23.77
[24H]
B iz K £ B it B H5E ik =
1 Enft ERR (& X £ E) 1.24.58 5t
2 At &l ( 7 M) 1.25.83 5t
3 FRK HEA (fh I £ %) 1.26.39 52
4 A #HK ( [ & ) B4 LTEL 1.24.39
5 R B2 (B & X =) B4 LIEL 1.24.41
DEBEF  1000m  RE
B iz K £ B it B =R = ik =
1 F5 H¥F (&8 X £ E) 1.17.08 52
2 R KA (1 I & %) 1.19.30 5
3 el &k ( [ & M) B4 LTL 1.18.54
4 HE 5 (M1 I & %) B4 LIEL 1.18.82
5 i —F (&8 X £ E) B4 LIEL 1.19.35
6 Bt EdK (& XA E E) B4 LIEL 1.19.50
7 ING {E—ER (E % 5 #) B4 LIEL 1.21.46
8 A #HK ( [ & ) B4 LTL 1.23.86



PDLEBF 1500m FE

[14H]
[1:Xiva K £ B it Bk 5= % =
1 A #HK ( e ) 2.03.65 5t
2 Rk HE (M1 I & %) 2.04.11 5
3 At &l ( A M) 2.04.29 5t
4 Enft ERR (&8 X £ E) 2.04.53 5t
5 e BE (@ ) 2.05.05 52
6 INFR #E (& # H) B4 LIL 2.12.49
[24H]
[1:Xiva K £ B it B = ik =
1 B HEX (8 A & =) 2.18.67 52
2 BH (fh I £ %) 2.24.02 5t
3 MHERE (I s ) 2.24.22 5t
4 s KER @ ) B4 LIEL 2.18.86
5 ING {E—ER (E % & %) B4 LIEEL 2.54.58
TR Bt (B & X =) WDR
DEBEF  1500m  RE
[1:Xiva K £ B it B 5= % =
1 HHF (m I & %) 2.01.82 52
2 ME E @\ ) 2.02.14 52
3 A# &ih ( B ) 2.04.13 52
4 HiE KBA (I s ) 2.07.38 5t
5 B X (&8 X £ E) B4 LTL 2.06.46
6 A #HK ( & ) B4 LIEL 2.07.10
7 Bt EdK (& X E E) B4 LIEL 2.07.63
Fik B (M1 I & %) DNF



PLEBF 5000m FE

[14H]
[1:Xiva K £ B it Bk 5= % =
1 x5 RE ( e ) 7.19.10 52
2 HH =i (& A £ E) 7.19.15 5
3 & HE (1 I & %) 7.39.25 5
4 BHHF Xi&E (&8 X £ E) 7.39.94 5t
5 HH 5% (fh i £ %) B4 LTEL 7.38.85
6 (1T N ! @ ) B4 LIEL 7.39.24
7 #E E @ ) B4 LIEL 8.19.28
= (B & X =) WDR
[24H]
[1:Xiva K £ B it Bk = ik =
1 N BFE @i ) 7.24.55 52
2 AR BER (m I & %) 7.24.83 5
3 HH (fhh I £ %) 7.32.41 5t
4 X# B (&8 X £ E) 7.32.64 5t
5 e #BE @ ) 7.34.47 5
6 TE Stk (fh I £ %) B4 LIEL 7.23.53
7 B X (&8 X £ E) B4 LTL 7.40.79
DEBEF 5000m  RE
[:Xiva K £ B it Bk 5= % =
1 x5 RE ( Fa M) 7.36.15 52
2 BH =i (8 A E E) 7.36.23 52
3 ik HE (M1 I & %) 7.37.60 5=
4 AR BER (fh I £ %) B4 LIL 7.36.14
5 X# Bi= (&8 X £ E) B4 LTL 7.36.31
6 BHHF K& (&8 X £ E) B4 LTL 8.34.99
7 e 8E @ ) B4 LIEL 8.36.76
8 WiE KBA () s ) BALTEL 8.37.01
9 N BE (1 s ) B4 LTEL 8.37.09
10 TE Stk (fh I £ %) B4 LTL 8.37.19
11 HHF 5% (fh I £ %) B4 LTL 8.39.00
BHF (i £ %) DQ R256-2



MHEBF  10000m REE

I iz K £ B it E% H5E ik =
1 HHF Xi&E (&8 X £ E) 16.24.29 5t
2 A A= (&8 X £ E) B4 LTL 2 16.43.55
3 N BE (1 E) B4 LTEL 16.34.44
4 AR BER (i £ %) B4 LTL 16.34.59
5 X8 RE ( [ & B4 LTEL 16.34.70
6 TE Stk (I £ %) B4 LIEL 16.35.79
7 HH % (fh I £ %) B4 LIEL 16.35.97
HH E# (8 A E E) DQ R256-2
DELF 500m FE
[14H]
I 5z K £ B it B H5E ik =
1 T BE ( [ % ) 44.76
2 g Y (R B K =) 4513
3 FH & ( [ & M) 45.15
4 TE # (& X £ E) 45.34
5 R ImAK (M1 I & %) 45.45
[24H]
I 5z K £ B it B H5E % =
1 =2E B (1 I & %) 44.55
2 FE BHEXR ( [ & ) 44.58
3 hF B (R B KX =) 44.64
4 INth BRER (m I E %) 44.78
5 £F BHFED (8 2 ) 45.85
DELZF 500m R
JIE 5z K £ B B it B H5E ik =
1 =2E B (fh I £ %) 42.12
2 FH & ( % ) 4213
3 T BE ( = ) 42.24
4 FE BEEXR ( = ) 42.30
5 FEE Y (R =B K =) 42.33
6 hF B (R =B KX =) 42.67
7 Nt BREE (h i1 & %) 43.42
8 TE # (&8 X £ E) 43.69



DELZF  1000m FiE

[14H]
[1:Xiva K % B it Bk 5= % =
1 hF BF (B & X =) 1.31.81 5=
2 T B ( = ) 1.31.82 5
3 FH & ( % M) 1.31.89 5t
4 TE # (&8 X £ E) B4 LIEL 1.32.21
5 &£F HFD (82 F iR) B4 LTEL 1.32.36
6 R ImK (1 I & %) B4 LIEL 1.41.07
[24H]
[1:Xiva K % B it B = ik =
1 e k3% (& A E E) 1.26.47 52
2 FEE sy (R ® KX =) 1.27.14 52
3 FE BHEXR ( [ & ) 1.29.61 5t
4 =E B (m I & %) 1.37.77 5
5 IVt AREE (I £ %) B4 LIL 1.29.31
DELZF 1000m R
[1:Xiva K % B it B 5= % =
1 =2E B (fh I £ %) 1.24.77 5t
2 T BE ( & ) 1.25.93 5
3 FEE Y (R ® K =) B4 LI 1.24.70
4 e k3% (& XA E E) B4 LI 1.25.46
5 FE BHEXR ( = ) B4 LIEEL 1.25.56
6 hF FF (B & X =) B4 LIL 1.25.57
7 FH & ( [ A M) B4 LIL 1.25.82
TR ®# (& X £ E) DQ R256-2
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E S
2.18.39
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24 LIEL

E S
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